Quiz # 2 (semester 123) – Stat_212 

NAME:                                                                           

 ID #:              
Q. (1+2+1+3+3). One of the major determinants of sale (Y) of a certain product is price (X) of a that product. A dataset of ten random values on Y and X is collected and a regression line is fitted. Following is the MINITAB output of regression analysis using quadratic regression model. Based on this output answer the following questions: 
Predictor       Coef       StDev          T        P

Constant       71.92       21.80       3.30    0.013

X             -6.909      
 ?      -2.32    0.054

X^2          0.20364     0.09676       2.10    0.073

S = ?       R-Sq = ?     R-Sq(adj) = 47.6%

Analysis of Variance

Source       DF          SS          MS         F        P

Regression    2      110.19       55.10      
?    0.043

Error         7       75.81       10.83

Total         9      186.00
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i. Write the fitted regression line efficient.

ii. Comment the assumptions using the residuals plots given above. 

iii. Interpret the value adjusted R2.
iv. Test the significance of the quadratic term in the model, at 5 % level of significance. (Don’t forget to formulate your hypothesis).

v. Compute the missing entries (showing ? at that place) in the above output.

